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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In

[Registration No.

[Name :

[Exam Venue :  [iON Digital Zone iDZ Bannerghatta Main Road
[Exam Time : 4:00 PM - 5:30 PM

[Exam Date : 14/02/2019

Section : General Section

Q-1 Tp a certain code, DIG is written as 60. How will FEED be written in that code?

Ans X 1. 90
v 2 80
X 3 20
X 4 50

Question ID : 9895803371
Chosen Option : 2

Q.2 Eight friends A. B. C. D. E, F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
and third to the right of B. G is between F and D. H is to the left of D. E is between C and A. Who is sitting third to the
right of H?

Ans xl_ D
X2 A
X3 B
v F

Question ID : 9895803373
Chosen Option : 2

Q.3 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

i

X

KoL @

Ans

Question ID : 9895803387
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l Chosen Option : 4

Q.4 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1.) All pens are frogs.
2.) All crows are frogs.
Conclusions:
1. No pen is a crow.

II. Some pens are crows.

Ans 1. Only conclusion II follows.

& 2. Both conclusions follow.
/< 3. Only conclusion I follows.

' 2 Either conclusion I or conclusion II follows.

Question ID : 9895803375
Chosen Option : 3

Q.5 Select the option that is related to the third term in the same way as the second term is related to the first term.

BFH:HBF::GKM:?

Ans Xl_ KMG
X 2. MKI
v 3 MGK
X 4 IKM

Question ID : 9895803369
Chosen Option : 3

Q.6 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed).

X

Ans
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Question ID : 9895803384
Chosen Option : 2

Q7 Choose the odd number out of the given options.

Ans X1 216
v 2 65
X3 8
X 4 125

Question ID : 9895803380
Chosen Option : 2

Q.8 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

X

X

Ans

X
| e

Question ID : 9895803385
Chosen Option : 1

Q.9 Seven friends O, P. Q. R. S, T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sifting
second to the right of S. P is sitting between O and Q. U is NOT sitting at any extreme end. R is sitting to the left of T.
Who is sitting fourth to the right of U?

Ans “1. R
X2Q
XaT
X4 P

Question ID : 9895803372
Chosen Option : 3

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

0
MORTIFY

S
< 1 | YAITHOMm

An

< 2. | YFILYOM
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2 3| YAILYOM

v 4 | YHITSOM

Question ID : 9895803386
Chosen Option : 4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
1
Dispur : Assam : : Kohima : 7

Ans 1. Capital
X 2. Sikkim
/X 3. Meghalaya
' 2 Nagaland

Question ID : 9895803367
Chosen Option : 4

Qz-l Select the option that will correctly replace the question mark (?) in the series.

6.21,51,96,?

Ans of 1156
X 2176
X 3 136
X 4 116

Question ID : 9895803377
Chosen Option : 1

Qél Choose the odd one out of the given options.

Ans (1. ILNM
X 2. RNK
X 3 JKV
X 4 HLW

Question ID : 9895803365
Chosen Option : 3

Qail Find out the two signs to be interchanged to make the following equation correct.
27+48x2-7+3=30

Ans X1 _and +
X 2 +and-
v 3 xand -
X 4 -and x
Question ID : 9895803382
Chosen Option : 3
Q.1
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5 Choose the option that would follow next in the given figure series.

SAEAE

Ans

v &)

Question ID : 9895803383
Chosen Option : 2

Qél Select the option that will correctly replace the question mark (?) in the series.

TOD, RQB, PSZ, NUX, ?
Ans x 1. WU

X2 LVW

X 3 LWW

v LWV

Question ID : 9895803364
Chosen Option : 2

Q.1 Select the option that is related to the third number in the same way as the second number is related to the first number.

7

452 315 3702
Ans X1 144
v 2 259
< 3 169
X4 221

Question ID : 9895803379
Chosen Option : 4

Q.1 In a certain code, STEERING is written as TEIGTEIG. How will QUESTION be written in that code?
8

Ans &1 USINVSIN
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X 2. USINUSIN

v 3. USINUSIN
5 4. USINUSIN

Question ID : 9895803370
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
9 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1.) Some owls are horses.
2.) Some horses are hares.
Conclusions:
I. Some owls are hares.

II. Some hares are owls.

Ans 3 1. Only conclusion II follows.
/< 2. Only conclusion I follows.

< 3. Both conclusions follow.

v 4. Neither conclusion I nor conclusion II follows.

Question ID : 9895803376
Chosen Option : 2

%2 Choose the odd one out of the given options.
Ans X 1. Ghana

& 2. Cuba

/< 3. Egypt

v 4 Berlin

Question ID : 9895803366
Chosen Option : 4

Ql-z Select the option that will correctly replace the question mark (?) in the series.

5,6,14,41,7

Ans x 1. 135
v 2 105
X 3 115
X 4. 95
Question ID : 9895803378
Chosen Option : 4
Q.2
2
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Select the option that will correctly replace the question mark (?) in the given pattern.

(16) (3) ()
OJONORONONO

Ans Xl- 34
X215
v 3 64
X 48

Question ID : 9895803381
Chosen Option : 1

Q.2 I.KL.M. Nand O are six teachers. Each one teaches a different subject out of Hindi. English. Math. Science, Social
3 Science and Arts, NOT necessarily in the same order. Each of them teaches on only one day. from Monday to Saturday.
NOT necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science, but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Which subject is taught on the day between Thursday and Saturday?

Ans  of 1 Social Science
< 2. Maths
X 3. Science
X 4 English

Question ID : 9895803374
Chosen Option : 4

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
Famous : Renowned : : Moisten : ?

Ans o 1. Drench
&< 2. Desire
X 3. Debate
& 4 Drink

Question ID : 9895803368
Chosen Option : 2

Qéz Select the Venn diagram that best represents the given set of classes.

Whales. Bats, Mammals

Ans
X1 O
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Question ID : 9895803388
Chosen Option : 4

Qéz Which of the following Union Territories is given partial statehood in India?
Ans X 1. Chandigarh

< 2. Dadra and Nagar Haveli

# 3. Daman Diu

v 4+ Puducherry

Question ID : 9895804948
Chosen Option : 1

Q2 Malaria and Kala Azar are caused by:
Ans X 1. bacteria

X 2. fungi

« 3. protozoa

X 4 virus

Question ID : 9895804940
Chosen Option : 1

%2 Choose the correct group of important Gods of the Vedic period.
Ans (1. Brahma, Prajapati, Garuda

/< 2. Seshanaga, Chandra, Yama

25 3. Varuna, Vishnu. Shiva

' 4 Agni, Indra, Soma

Question ID : 9895804933
Chosen Option : 1

Qéz Which of the following statements is NOT correct about the Tundra type of vegetation?

Ans 1. Small shrubs are a part of this vegetation.

/< 2. Moss and lichens are found here.
/< 3. The growth of natural vegetation is limited here.

« 4 Itis found in a temperate region.

Question ID : 9895804936
Chosen Option : 4
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Q63 The Justice Rajendar Sachar Committee was set up by the Government of India to :

Ans X 1.

study the condition of unorganized sector of Indian Economy.
< 2. study the conditions of National parks in India.

X 3. examine the status of India’s foreign policy.
v

examine the social and economic status of the Muslim community.

Question ID : 9895804947
Chosen Option : 1

Q3 In the context of Elections in India, the term VVPAT stands for :

Ans 1. Vpter Visit Poll Account Trail
< 2. Voter Vivid Press Audit Trail
' 2. Voter Verifiable Paper Audit Trail

/< 4. Voter Verifiable Paper Account Trail

Question ID : 9895804944
Chosen Option : 3

Q.3 Which of the following places served as the venue for the closing ceremony of Pravasi Bharatiya Divas 2019?
2

Ans 1. Chandigarh
/X< 2. Pune
' 2 Varanasi

X 4 Kochi

Question ID : 9895804945
Chosen Option : 3

Q3 : =y
5 Lhe other name of the tertiary sector is :

Ans  of 1 service sector

/< 2. primary sector
< 3. manufacturing sector

/< 4. public sector

Question ID : 9895804951
Chosen Option : 1

Q3 ‘Bibi Ka Magbara, the replica of the Taj Mahal is situated in :
Ans X 1. Chandarnagar
' 2. Aurangabad

X 3. Ahmedabad
X 4. Cuttack

Question ID : 9895804928
Chosen Option : 3
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Q.3 In the context of the Indian Constitution, which of the following Articles guarantees the Right to Freedom of Religion to
5 its citizens?

Ans X1 Article 14
v 2 Article 25
< 3. Article 32
X 4 Article 22

Question ID : 9895804949
Chosen Option : 1

Q.3 The type of unemployment in the agricultural sector of India where more people are employed than required is known as:
6

Ans o 1 disguised unemployment
& 2. seasonal unemployment
X 3. structural unemployment

/< 4. marginal unemployment

Question ID : 9895804950
Chosen Option : .3

Q¥ Sandstone is an example of :

Ans X 1. non-foliated rock
« 2. sedimentary rock

/< 3. igneous rock
/X 4. metamorphic rock

Question ID : 9895804935
Chosen Option : 4

Qé3 Which bridge connects Dibrugarh in Assam to Pasighat in Arunachal Pradesh?
Ans X 1. Naini
v 2 Bogibeel

/X 3. Coronation

/< 4. Pamban

Question ID : 9895804946
Chosen Option : 2

Q.3 Food containing ¢il and fat, when kept for a longer time, causes a change in its taste and smell due to the process of

9
Ans (1. decomposition
X 2. fermentation
v rancidity
/< 4. substitution

Question ID : 9895804943
Chosen Option : 1

Q.4 b " :
o The Ryotwari System was introduced by:
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Ans 1. Warren Hastings
X 2. Lord Cornwallis
v 3. Thomas Munro
/< 4. Lord Ripon

Question ID : 9895804932
Chosen Option : 3

Q.4 With reference to the Mahatma Gandhi National Rural Employment Guarantee Act, which of the following statements
1 isNOT correct?

Ans X1 It is also known as the Right to Work.
/< 2. It is implemented by the Ministry of Rural Development.
« 3 It was initiated by the Government of India in 2009.
X 4. It guarantees 100 days of work to the beneficiary.

Question ID : 9895804952
Chosen Option : 2

Qé4 The Bandipur National Park is located in which of the following states of India?

Ans o 1 Karnataka
& 2. Tamil Nadu
& 3. Odisha
X 4. Chhattisgarh

Question ID : 9895804934
Chosen Option : 1

Q4 T; : 1
5 Light Year is related to :

Ans X' 1. weather

v 2. distance
X 3. sound
X 4. speed
Question ID : 9895804941
Chosen Option : 1
@4 The _______ collects sound from the surroundings.

Ans 1. auditory nerve
< 2. tympanic membrane

X 3. cochlea
« 2. pinna

Question ID : 9895804939
Chosen Option : 1

%4 The 2018 Dronacharya Award for Table Tennis was given to :

Ans  of 1 Srinivasa Rao
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/< 2. Jiwan Kumar Sharma

< 3. Vijaya Sharma
/< 4. Tarak Sinha

Question ID : 9895804938
Chosen Option : 4

Qé4 The Lahore session of the Indian National Congress is significant because :

Ans  of 1 it passed the resolution to demand Poorna Swaraj.
X 2. it passed the resolution to start the Rowlatt Satyagraha.
5 3

it passed the resolution to hold civil services examination in India.

/< 4. it passed the resolution to boycott provincial elections.

Question ID : 9895804931
Chosen Option : 2

Q7'4 After some days, statues of brass and bronze become green due to:
Ans X 1. oxidation

v 2. corrosion

< 3. erosion

/X 4. decomposition

Question ID : 9895804942
Chosen Option : 1

4 = 4 ' - = .
QS The bronze sculpture of Nataraja was cast during the period of the:

Ans X 1. Cheras
X 2. Pallavas
v 2 Cholas
/X 4. Pandyas

Question ID : 9895804930
Chosen Option : 3

Q§4 ‘Bali Yatra’, the voyage to Bali, is celebrated in which of the following states of India?
Ans X 1. Tamil Nadu

/< 2. Rajasthan

X 3. Kerala

v 4. Odisha

Question ID : 9895804929
Chosen Option : 4

Q.5 Which Indian cricketer has become the fastest bowler to claim 100 wickets in One-day Internationals as on January
0 2019?

Ans X' 1. Ishant Sharma
& 2. Umesh Yadav
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X 3. Hardik Pandya

' % Mohammed Shami

Question ID : 9895804937
Chosen Option : 4

Qis ‘What is the value of [G+41—4><§><§)afe+§+l)]?

2

Ans

r N

X2

L N S R e I & N e

Question ID : 9895805029
Chosen Option : 1

Q.5 K alone can complete a work in 20 days and M alone can complete the same work in 30 days. K and M start the work
2 together but K leaves the work after 5 days of the starting of work. In how many days M will complete the remaining
work?

Ans  of 1. 35/2 days
X 2. 25/2 days
X 3. 55/2 days
X< 4. 45/2 days

Question ID : 9895805044
Chosen Option : 2

Q.5 A sum becomes three times of itself in 10 years at the rate of simple interest. What is the rate of interest per annum?

3

Ans X1 25%
v 2 20%
< 3 15%
X 4 30%

Question ID : 9895805041
Chosen Option : 2

Q.5 The sum of the volume of two solid spheres is 1144/3 em?. If the sum of their radii is 7 em, then what will be the
difference of the radii?

Ans X' 1 4cm
X 2 3cm
X3 2cm
v 4 lem

Question ID : 9895805049
Chosen Option : 2

Q.5
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5 Rohit, Mohit and Sumit individualy can complete a work in 8 days, 14 days and 21 days respectively. In how many days
these three together can complete the same work?

Ans 1. 156/43 days
V' 2. 168/41 days
X 3. 168/43 days
X 4. 156/41 days

Question ID : 9895805043
Chosen Option : 4

Qb:5 ‘What is the mode of the given data?
T o T (e o S
Ans J 1.
K2

F 3

p N

W o -

Question ID ::9895805034
Chosen Option : 1

Q.5 Ifanumber is divided by 14, then it becomes equal to 10% of the second number. First number is how much percent
7 more than the second number?

Ans of 1 40%
X 2 45%
X 3. 60%
X 4 30%

Question ID : 9895805035
Chosen Option : 1

Qé5 If selling price of an article is T638 and profit is 45%, then what will be the net profit?

Ans X 1. ¥256
X 2 22871
X 3. 440
v F108

Question ID : 9895805036
Chosen Option : 3

Q.5 If Sohan is driving a bike at a speed of 25 m/s, then in how much time Sohan will cover a distance of 540 km?
9

Ans X1 7hr
X2 5hr
X3 21.6hr
v 6hr

Question ID : 9895805045
Chosen Option : 4

Q.6 The area of a square and a rectangle are equal. The length of the rectangle is greater than the side of a square by 5 cm
0 and its breadth is less than the side of square by 4 cm. What will be the perimeter of the rectangle?
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Ans X 1. 84 cm
v 2 82cm
X 3 76 cm
X 4 72cm

Question ID : 9895805048
Chosen Option : 1

Q.6 The ratio of two numbers is 13 : 20. If the difference between them is 189, then what is the smaller of the two numbers?
1

Ans 1279
X 2 221
X 3 297
v 4 351

Question ID : 9895805038
Chosen Option : 2

Q.6 Marked price of an article is 40% more than its cost price. If 50% discount is given on the article, then selling price is
2 what percent of the cost price?

Ans X 1. 78%
v 2 70%
X 3. 93%
X 4. 84%

Question ID : 9895805033
Chosen Option : 1

Q?;G The line chart given below shows the production (in 10000s) of cars in 7 different months.

16 38

Ml M2 M3 M4 M5 M6 M7

What is the average monthly production for the given 7 months?
Ans X1 32.2 (in 10000s)
X 2. 21.6 (in 10000s)
/< 3. 23.5 (in 10000s)
« 2. 28.8 (in 10000s)

Question ID : 9895805051
Chosen Option : 1
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The table given below shows the marks obtained by 4 students in 5 subjects. The maximum marks

of each subject is 100.

Students

Subjects
P1| P2 (P3| P4

S1 89| 100| 92| 91

S2 62| 52|72 37

83 57| 55| 70| 65

S4 76| 85 | 76| 58

S5 85| 70 | 66| 62

What are the average marks per subject obtained by P2?
Ans of 1724

X2 758

X 3 706

X4 746

Question ID :'9895805052
Chosen Option : 1

Qéa What is the value of [45 of (E+E)— (6%+3 —4)+ 2] ?

7

Ans 131
v =
147
11
109
6
33

K=

X 2

K3

Question ID : 9895805030
Chosen Option : 3

Qéﬁ If Mohit can cover a distance of 1872 km in 26 hours, then what is the speed of Mohit?

Ans X136 m/s
X 2 20m/s
X 3 24m/s
v 4 72 mis

Question ID : 9895805046
Chosen Option : 2

Q.6 A person purchases calculators at the rate of T343 per calculator. If he sells calculators on 40% loss then what will be

7 the selling price of 28 calculators?

Ans X 1. T6872
X 2. TR657
X 3 13524

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
v 4 35796

Question ID : 9895805037
Chosen Option : 1

Q.6 Height of a right circular cylinder is 20 cm. If the radius is its base 14 cm, then what will be the curved surface area of
8 the cylinder?

Ans XK1 1940 em?
X 22120 em?
V'3 1760 em?
X 41880 cm?

Question ID : 9895805047
Chosen Option : 4

Q.6 The average salary of managers is x and the average salary of workers is y. The number of the managers is 15 times of
9 the number of workers. What is average salary of managers and workers together?

Ans o 1 (15x+y)/16
X2 (155 +Vi(x+y)
X3 (x+15V)/(x+y)
X 4 (x+15y)16

Question ID : 9895805032
Chosen Option : 3

Q.7 The average weight of 10 articles is 65 kg. If three articles having an average weight of 72 kg are removed, then what
0 will be new average weight of the remaining articles?

Ans X1 58 kg
X 2 65kg
X3 Tlkg
v 62ke

Question ID : 9895805031
Chosen Option : 3

Q.7 P. QandR invest 14000, 18000 and 24000 respectively to start a business. If the profit at the end of the year is
1 $25480, then what is difference between the share of P and Q?

Ans X 1. 2670
X 2. T3480
v 3 31820
X 4 T2140

Question ID : 9895805040
Chosen Option : 3

Q.7 What will be the highest number which when divides 52 and 104 leaves remainder 4 and 8 respectively?
2

Ans x 1. 12
v 2 48
X316
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X< 4 26

Question ID : 9895805028
Chosen Option : 3

Q:f Ifx : ¥ =5 : 4, then what will be the ratio of (x/y) : (y/x)?
Ans of 1. 25:16

X 216:25

K3 4:5

X4 5:4

Question ID : 9895805039
Chosen Option : 3

Q.7 The line chart given below shows the production (in 10000s) of cars in 7 different months.
4

36 38

. 24
8

ML M2 M3 M4 M5 Me M7

Production of cars in month M2 is how much percent more than the production of cars in month M17?
Ans X 1. 25%
X 2 37.5%
X 3. 33.33%
v 4 28%

Question ID : 9895805050
Chosen Option : 3

Q.7 A sum of T4500 is lent at compound interest. If the rate of interest is 10% per annum (interest is compounded annually),
5 then what will be the amount after 3 years?

Ans  of 1 F50890.5
K 2 756895
X 3 T5686.5
X 4 T5889.5

Question ID : 9895805042
Chosen Option : 1

Section : English Language

Q.1 select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

The prince was told kill the dragon, but in order to do so, he had to cross the Forbidden Mountain.

Ans 1. was told killing the dragon
/< 2. No improvement
/< 3. was told too kill the dragon
« 4 was told to kill the dragon

Question ID : 9895804491
Chosen Option : 1
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Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
Ten years since Mohit left India and started working for the betterment of the downtrodden people.
Ans  of 1. Ten years since
& 2. the betterment of
X 3. started working for
# 4 Mohit left India

Question ID : 9895804488
Chosen Option : 4

Q3 Select the option that means the same as the given idiom.

At the drop of a hat
Ans  of 1 Instantly

X 2. Lately

X 3. Slowly

X 4. Seldom

Question ID : 9895804506
Chosen Option : 3

Q4 Select the correctly spelt word.

Ans X 1. Calander
v 2. Calendar
& 3. Calandar
X 4. Calender

Question ID : 9895804511
Chosen Option : 4

Q5 Select the most appropriate option to fill in the blank.

The film we saw last night was boring. IwishI ~ seenit.
Ans X1 didn’t
v 2 hadn't
< 3. shouldn’t
& 4 wouldn’t have

Question ID : 9895804495
Chosen Option : 1

Q6 Select the correctly spelt word.

Ans X 1. Mentainance
< 2. Maintainance
& 3 Maintainence
v 4 Maintenance
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Question ID : 9895804510
Chosen Option : 2

Q7 Select the antonym of the given word.

BOISTEROUS
Ans 1. Aggravated
/< 2. Incompetent

v 2 Restrained
X 4. Exuberant

Question ID : 9895804504
Chosen Option : 1

Q8 Select the word which means the same as the group of words given.

A person who thinks he/she is the best.
Ans X 1. Eccentric
' 2. Egoist
X 3. Selfish
& 4. Garrulous

Question ID : 9895804872
Chosen Option : 1

Q.9 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

The mobile company changed their handsets last vear, and by doing so they have managed to improve their sale.

Ans X 1. No improvement
& 2. improve the sale
v 3 improve their sales

/< 4. improved their sales

Question ID : 9895804492
Chosen Option : 4

Q1 ;
5 Select the synonym of the given word.

AMIABLE
Ans X 1. Cheerful
& 2. Bashful
X 3. Hostile
' 2. Friendly

Question ID : 9895804503
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it, select No Improvement.

Don’t use those pencils; use the one we bought in Portugal.
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Ans 1. No improvement

< 2. use this ones
< 3. use one

v 4. use the ones

Question ID : 9895804493
Chosen Option : 2

Q1 7
5 Select the synonym of the given word.

TURBULENT
Ans  of 1. Violent

X 2. Miserable

X 3. Accurate

X 4. Troublesome

Question ID : 9895804502
Chosen Option: 1

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
3

If I am a bird, I would fly and explore the world.
Ans X 1. Iwould fly
< 2. and explore

v 3 IfIam
X 4. the world

Question ID : 9895804490
Chosen Option : 3

Q1 Select the most appropriate word to fill in the blank.

Beware of him. He is as.sly as a

Ans X 1. goat
/< 2. rabbit
< 3. spail
v 4 fox

Question ID : 9895804513
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 15
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Q5'1 Select the most appropriate option to fill in blank
number (1).

Ans of 1 put
< 2. because
< 3 so
& 4 as

Question ID : 9895804497
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 16
21 Select the most appropriate option to fill in blank
number (2).
Ans x 1. are
< 2. were
v s
< 4. was

Question ID : 9895804498
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 17

Q7'1 Select the most appropriate option to fill in blank
number (3).

Ans X 1. season
v 2 time
#< 3. month
/< 4. part

Question ID : 9895804499
Chosen Option : 1
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Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular (3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 18

1 i 1 : :
Q8 Select the most appropriate option to fill in blank
number (4).

Ans X 1. visitors
' 2. migrants

/< 3. travellers
/< 4. tourists

Question ID : 9895804500
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill inthe
blanks with the help of the alternatives given.

Most animals have their own habitats (1) some make long
journeys from one region to another. This (2) called
migration. It takes place at a particular {3) of the year.
Birds are the best-known (4) but many other animals also
migrate to places with (5) climate.

SubQuestion No : 19

Qél Select the most appropriate option to fill in blank
number (5).

Ans X 1. extreme
v 2. favourable
#< 3. harsh
& 4 cold

Question ID : 9895804501
Chosen Option : 1

%2 Select the antonym of the given word.

URGE

Ans o 1. Deter
< 2. Persuade
& 3. Triumph
/X 4. Request

Question ID : 9895804505
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l Chosen Option : 1

Q2 Select the most appropriate option to fill in the blank.

When she bid farewell to her parents, her eyes were full ~ tears.
Ans X 1. with

V2 of

& 3. from

x 4. b}r

Question ID : 9895804494
Chosen Option : 4

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
He cannot speak Spanish because he was born and brought up in Spain.

Ans 1. born and brought up

/< 2. He cannot speak

v 3. because he was
< 4. in Spain.

Question ID : 9895804489
Chosen Option : 1

Qéz Select the word which means the same as the group of words given.

A life history written by somebody else
Ans (1. Autobiography
/< 2. Museology
+ 3. Biography
/< 2. Bibliography

Question ID : 9895804509
Chosen Option : 1

Qf Select the option that means the same as the given idiom.

Spill the beans
Ans 1. To keep the secret
< 2. To be productive

v 3. To leak the secret
/< 4. To be clumsy

Question ID : 9895804507
Chosen Option : 1

Q2 Select the most appropriate word to fill in the blank.

Let us go for a picnic today. The is very pleasant.
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Ans X 1. atmosphere

X 2. climate

v 2 weather
X 4. 3gason

Question ID : 9895804512
Chosen Option : 2

Section : Hindi Language

Ol R AT g F AT AR T TIT Fi

o

Ans x 1. m

o 2 T

XK 3 gt
Ko s

Question ID : 9895804047
Chosen Option : --

Q.2

Ans

f&3r 7 T & forT v o SifEd

[T &HTH & arell
X 1 ggeHf
v mEEs
X 3. ggerAt
X 4 gEgrET

Question ID : 9895804050
Chosen Option : --

Q.3

Ans

HEr I el 9e & T FLI
X 1 e
X 2 Tzt
v o fagzedt
X 4. drezredt

Question ID : 9895804053
Chosen Option : --

Q4
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R aw amr & Wwifed @3 @ saraRe & & v gaw 399w e &1 907 #{

HeITET T e F AT mgcaTer veF

Ans o L e &

Question ID : 9895804032
Chosen Option : --

®° R TR F R F T wed 39ged oeg 1 9T

3 FAteE g gl

Ans ?(1- m
X 2 Galel

Xs.?‘[‘?.]‘

v g

Question ID : 9895804037
Chosen Option : --

®® R T # s % T FIQ 39gFA Aeg 1 TTA

AT T A F oA fBr=relr Fre & FTE|

Ans X]" m
X o2oar
X 3 HegT

Vo wg

Question ID : 9895804035
Chosen Option : --

7 T AT A F FE SO A WS # IR

ZH 5T arg & FHA Fd € I T FARX FA H 3c9fed e gl

e XL oy gAY A
v ga oE aeg #
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X 3 3fed g gl
X 4 FHEAT FT &

Question ID : 9895804029
Chosen Option : --

% fow T I F IF AW AT HY S S IR

9 F HOF gEl & g § F #iow T 9

AnS 1 3 B e
X2 3 7w

X 3 gEY & T
X 4 ffEg O

Question ID : 9895804028
Chosen Option : --

®® T aTT ey W e T
ICEE

Ans X1 ST
v mRg
A . HFARgT

X 4 FIOT

Question ID : 9895804045
Chosen Option : --

% Tl TSN AT e F TS FY
Ans Xlﬁ-{nﬁ

X > fref

v R

X+ et

Question ID : 9895804052
Chosen Option : --

% R T # R F R weY S99 U F1 99

3= e g ¥ gl
Ans le
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X 2 ey
v g
K 4 gafiremg

Question ID : 9895804034
Chosen Option : --

Qz-l fow 1w o # wifes @F # sAvwfie &= & B 7aw sugEa Rwew & 997 F4

# Forw s SO P AT § S avuen F§ S & g
At Ko 3Edr sremst S fREe g

X 2. 3 yemeT ofr TR gem

v o IESFT 3eTeT w5 fhEe & g

X 4 IEEr HegeT w5 B 2R

Question ID : 9895804031
Chosen Option : --

! Ry T Ty 7 BT T oeg AT

TR FF Tet el
Ans (1, EIEIr]

X 2 et

X2 gEe

X4.EMH§;ETI'

Question ID : 9895804051
Chosen Option : --

% R T s T WeR UG g H T HY

TS T gl

Ans Xl- ':n#
X 2 T

v
?(4.?34’

Question ID : 9895804036
Chosen Option : --
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BT 9T 9eg F TS AT FT TTT FI|

qrfor

Ans xl Oodr
X2 9y
v
X o g

Question ID : 9895804046
Chosen Option : --

Comprehension:

TToflE ez & feg war # 9 awamr & A= o
AT oA F FFER HfAT -

F3T AR U WERlaw (1) & 9 W 3=l foeg
T A F AN SHET T THT _ (2) F A, Afdwar
AR weER Fr FREr & 39w Ty T (3) &l wifera
THET & 1Y g9 (4) FEAT F A T A & FATA
AaAfts gear &1 (5) go @ e #
SubQuestion No : 16

% g # @ad fwd e (1) F fw s9ged
9Teg BT

Ans xl_ ;F
X 2. 3edar
X 3. T
v o FaeR

Question ID : 9895804039
Chosen Option : --

Comprehension:

TToGa ez & g war & 9 wmr & @9 o
T geAT F FFER HfAT -

51 gANT & WEplaH (1) % 9 X 3= o1 fRBeg
T F AT SN A FHT _ (2) FT AFET, Afdwar
3 wEE Fr BT & 3= T THS (3) &1 A=
HET & O g9 (4) FEAT F A T A & FAA
# AT et A (5) gw= w e §
SubQuestion No : 17

G Tege # FHad e e (2) F e swged
9Teg BT
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Ans x 1. ur\;"?_r

Vo e
K3 e
X 4 3ARET

Question ID : 9895804040
Chosen Option : --

Comprehension:

ferafaf@a seamer & Rea st & qft @  #J=r o
AT FEA! F AN HIAT -

il g & WEHaw (1) % 98 W &= o1l faeg
TF FS F AT FF o F WHA (2) T ATATAT, AfaFar
AR Fer=mR #r T & 3ee T sEs_ (3) & Afea
AT & WY §H (4) FeTT FT g TR A of wATS
# s gt & (5) &= = e B
SubQuestion No : 18

% g # Tl fea e (3) F R e
reg g

Ans xl_ RFlT&fI'
K 2 g
< 3. geprer

v . gfyAmoT

Question ID : 9895804041
Chosen Option : --

Comprehension:

frafaf@a e & Rea st & qft gz & &A= oo
AT G F FFER HIAT -

F3 FANT U WEpia® (1) % 9 9T Hd= anl faeg
T AN F AT SH AT A THT _ (2) F A, Afdwar
3T meEm &1 R & aww Iy TEe (3) & afF=
THET & WY §H (4) HeT F A T A o FASA
H dAfaw Far #r (5) &= = THerar &
SubQuestion No : 19

S gy # delad fwa rw (4) F fe e
reg g

Ans X L At
< 2 geefaw
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v At
X aifas

Question ID : 9895804042
Chosen Option : --

Comprehension:

feafaf@a ez & Rea st & qft s & &= o
AT FEHAl F HFAL HIAT -

il gAY WERaw (1) F 9¢ I A unl ‘FeT

T B & AT FF O F EE (2) Fr AFGT, AfSFar
AR e Fr P & 39w T T (3) & af=

AT & WY §H (4) FEat FT ert TR A & TAS
# e goat & (5) &T= = e B

SubQuestion No : 20
% g # @l Rea e (5) % e suged
e e
e g o
< 2. HferRar
X 5wt
< 4 FUTT

Question ID : 9895804043
Chosen Option : --

Y R 7T I # 9 ST AT eaE FS 3E F

AT I U § ToTae goadnT i § g @Y o A gl
A X 1 zmd =@ S B

X 2. Torger graareT

X3 o ¥ TE

v OEg 9g 99 §

Question ID : 9895804030
Chosen Option : --

QZ-Z fow av R & Wwifed @3 @ sfarufe & & v g 39w e &1 a0 #

For F el @ Iow SUgR T off, T F AR A o

Ans

X L FgT 9T HEWT 715 T
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X 2 TEl 3P W IS

V' gt § HERT IS o
X 4 TFT 9T HERT TS o)

Question ID : 9895804033
Chosen Option : --

Q2 Bt 3 & 5w Fwod a1 Taw T S R A A AT JOR 730 2w w1
A XL e = e

Vo o et F 3 FEeT

X3 71w et 7 e BER

X 4 PR ¥ WX & SREAT

Question ID : 9895804048
Chosen Option : --

Q‘iz i # & 38 fwes & 909 & 1 'O9 W 775 5w Fgget # 39Y wed F g
X oE afET @ e &

X 2 & 919 T AT

X 3 U & FUT A7 85k &

v wsg @ 3T sEET

Question ID : 9895804049
Chosen Option : --

% few T e # faee T4

=TIUT
Ans x 1. ﬁa_r

v g
X 3 ST

X o st

Question ID : 9895804044
Chosen Option : --
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